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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed (any ten) :
1x10=10

ffRewERe orrRE Tes fan ([ e w2o)

(a) ‘‘An argument is merely a collection of
propositions.”” Is it true?

“gqvl e A @ g I B
GO A ?

(bp) On what depends, the validity of an
argument?
& @l e eo® (ST Fq 7
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(2)

(c) Give an example of class membership

proposition.

mﬁ’fmwaﬁwqﬁml ﬁ

(d) “A valid argument can never have true

premises and a false conclusion.”
(Write True or False) f

“&ﬁhﬂg@@ﬂ@mwwmw
g feme AiFa e
(3151 & =y o)

(e) What is the symbolic form of universal
negative proposition?

mﬁ%w@wm@h%ﬁmﬁ%’wﬁ?

(f) What is the name of the subject of the
conclusion of a syllogism?

TRA PraIea S AR N 1 2

(g) Which is the symbol that indicates the

form of a compound proposition in
symbolic logic?

BT AT o 48ce e T
4OR HIPR S ¢ 2
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(3)

(h) Does a variable contain a definite

meaning?

a1 q1 4369 @I e S Seeg ?

(i) Find out the alternative proposition from
the following :

woTe fRAIAIRA *[1 (5P 000! AR Sfer e

(i) 1 eat rice or bread.
T3 S 5e[] FH AW |

| (ii) Either he or I shall go.
(S8 TP 42 I |

(iii) He is alive or dead.

(o8 &S T I© |

(i) According to the rules of syllogism, if one
premise is negative, then conclusion will
be :

(Fill up the blank)

T GEEE A wepif, 1fr 9o s e
74RF 7Y, (T2 @ P 3’7

(311 32 e 1)
(k) Is truth table method a decision
procedure?
o7l I S 9O CTafee &S 25 2
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(4 )

there is a change in the

{) In obversion,
quality and

quality / quantity / both

quantity between premise and conclusion.

(Find out the correct answer)

SRade SRRRLT F Prar qEe &9
ﬂﬁﬁ?{jﬁﬁmﬂﬁﬁaﬁjmwﬁmﬂ
Tod fREdH = |

(wm Taach! R Tfred)

(m) Mention one important relation between
symbolic logic and traditional logic.

S oEREE WF ARETS SRS
Trere 2@ <o @Feed TEE TeEd 91 |

(n) ‘BOCARDO’ is a valid mood of the
figure.
(Fill up the blank)

‘BOCARDO’ ¥4 bl ¢34 qf© |
SEIREEIES)

(o) Who is the father of Logic?
TEHREE S FlH ?
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(5)

2. Answer briefly (any five) : 2x5=10

(a) Mention two characteristics of argument.

5 wh1 CafiEr TeEe 39 |

(b) State two differences between proposition
and argument,

o4 1% & e 4Pl 761 AL &4 |

(c) Are A, E, I, O propositions categorical or
conditional? Which term is distributed in
a negative proposition?
A, E, 1, O I5I1 FR0PF 7 M= 7 9@
e & o7 01 2

(d) Define one-predicate proposition with
example.

9% fAceye o7 THizaers g fa |
(¢} Name the authors ~ of  Principia

Mathematica.

Principia Mathematica 2%4{ &4 & ?

(f) Define immediate inference with example.
THIZIPTR 147 ST el A |
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(6)

(g) ‘‘He gave mc a nice present in my
birthday.”” Find out the ‘referent’ and
‘relatum’ of this proposition.

“cod e wfae @bl I T it 1”7
43 oA R’ S ST 4R S |

(h) What is the fallacy of undistributed
middle?

SR (TP (T I (G 2

3. Answer the following questions (any four) : 5x4=20
s epears Te fr (R e wif<et) -
(a) Write a short note on (any one) : 5
5y (ol ol (R Greett o)

(i) Truth and validity
Sore] HF (IS

(ii) Square of opposition of proposition

579 fcany s fewa

(b) What is symbol? State four utilities of using
symbols in logic. 1+4=5

goe 47 HREFT 29 I9YW R
Tercafarer Teas 90 |
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(7))

(c) Transform the following sentences into their

logical form of propositions : 1x5=3

oS il IPIEAH SHREETHS ot AR
49| :

(i) All that glitters are not gold.
HECell SRR I8 G 72 |
(ii) Every man is liable to error.
AfSe e 94 ¥ |
(iii) Lions never eat grass.

P23 (fems 92 FE |

(iv) Almost all people are present in the
meeting.
AT TG TFCRE TS SoAfFre wifes |

(v) Only intelligent students can pass the
examination.

@99 EA TAAER ARrwre T =279
ATC |

(d) What is simple proposition? State different
types of simple proposition. 1+4=5

9 o9 I @I 2 4% o9 fifem dez
& &, Trag s
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(8)

(e) What is logical constant? State differences

between logical constant and logical
variable. 2+3=35
w9y HRFAR FE QAT ordn 'Elﬁﬁﬁ’i LD
T 559 oS 4] A1 o |

(ff What is conversion? Make converse of
the following propositions : 2ri=s

TS IF @E? Toe SR I6AFDR
HITE 41 :

(i) All men are mortal.

STRCeTl W 26 TR |

(ii) No men is perfect.
Il 2 128 949 |

(iii) Some men are honest.
RRRIERIGEE R

(g) State the general rules of syllogism. 5
I YR EEREt Sy 391 |

(h) Explain four-fold scheme of proposition. 5

T4 5o caMeIer pr4m 4 |
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(9)

4. Answer the following questions (any four) :
10%4=40

fAafeRe areaRs e fam (R e wifdst) -

(a) Define syllogism and explain its
characteristics. 2+8=10

S T el S T QPR O A4

(b) What is figure of syllogism? Explain
different figures of syllogism  with

examples. 2+8=10
TIEI AT IPE e TR RS
S FgrEPRR Arm 4 |

(c) Define a proposition, according to the
modern logicians. Describe different kinds

of compound proposition with examples.

2+8=10
e SHRTEAY W, PR RS {1
TR Trreaeacd oo RieH 49 (qfere 3o

I 41 |

(d) What is obversion? Explain the rules of

obversion. 2+8=10
ARG PP @E 7 AfSTSHI APRR W
0
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( 10 )

logic? Discuss the

(e) What is symbolic
4+6=10

characteristics of symbolic logic.

Seae oFREE 87 dOPNT ISR REE|
IPEPTYZ el 9 |

(f) Explain differences between traditional

logic and symbolic logic. 10
AT SEREE WE ACINE  OFR[
&S A4F A 4 |

() Explain the process of the application
of indirect truth table method with
examples. 10
THIZIIR TRIHO [T NG| S| S s
T{Ch I 40

(h) Construct truth table for the following and
determine the truth value of each - 5+5=10
TS [MERY TSl O o9 991 @
ACOIFCI S fAefy 3

(ii) [P"i'} V-—[qu]
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(11 )

(i) Symbolize the following with the help of
logical symbols as used in propositional

logic : 2x5=10
T SERERe eI (2d S9R dOIRT
s wee RAARY dorae a¢t i

(i) ‘But’ is truth functional, while

(11)

(1i1)

(iv)

22A/1229

(v)

‘because’ is not truth functional.
Y oS, SwEee TRl
FEFATYS 72 |

It is false that Lovlina Borgohain 1is
not an Indian boxer.

BB T @ A JACOMER, Qo
THON TS T2 |

You will pass in the examination if
and only if you work hard.

o ~Rrwe oz IR A e Afwez o
38 341 |

It is untrue that students are not
intelligent.

2051 ST (R IS T |

If it does not rain, then we shall go

for shopping.
I 399 v, o oIt ImR IR

9 |
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(12 )

() Elaborate the: differences b
deduction and induction. (sadt

PR S =LA,
T

srdogiofd mn!’nﬂ sasf) ool o o tﬁi
mare! aathal ms ton )

f=r=r.--~;=- mm'm s 'm-
"Hﬁﬁ'
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